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1. (50 + 20) X 2 =

2. (272 + 38) X 38 =

3. (129 + &6) X 2 =

4. (516 + 36) X 5 =

5. (120 + 20) X 4 =

6. (46 + 54) X 60 =

7. (215 + 222) X 100 =

8. (22 X 4) + 1 =

9. (83 X 4) + 28 =

10. (218 X 8) + &0 =
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s (60 + 30) X 3 =

2. (5% + 25) X 6 =

3. (101 + 22) X 3 =

4. (219 + 15) X 4 =

& (1835 + 38) X 4 =

0. (49 + 11) X 20 =

7. (308 + 230) X 200 =

8. (19 X 2) + 22 =

9. (42 X 4) + 31 =

10. (302 X 2) + 60 =
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1. (0 + 10) X 4

2. (486 + 26) X8

3. (201 + 32) X2

4. (119 + 48) X5

5. (225 + 23%) X5

6. (67 + 283) X 30
7. (412 + 2832) X 8300
8. (8 X 5) + 35

9. (82 X 4) + 21

10. (602 X 4) + 30
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1 (80 + 10) X & =
2. (39 + 27) X 2 =
3. (2117 + 31) X 2 =
4. (117 + 16) X 4 =
& (329 + 55) X 4 =
0. (75 + 15) X 10 =
7. (427 + 132) X 400 =
8. (30 X 5) + 20 =
9. (36 X 4) + 28 =
10. (314 X 2) + 10 =
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1. (90 + 10) X 6
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2. (89 + 18) X 7

8. (220 * 22) X 2 =
4. (128 + 86) X 3 =

5. (418 + &5) X 8

6. (&2 + 18) X &0
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7. (8516 + 221) X 8500
8 (68 X B) + 42 =

9. (60 X 5) + 4 =

10. (BO1 X 6) + 90 =
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1. (20 + 80) X &

2. (45 + 25) X4
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3. (321 + 23) X 3 =
4. (154 + 2B8) X 4 = 3

5. (416 + 571) X2
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6. (83 + 17) X 40

I

7. (425 + 645) X 100 =
8. (84 X 2) + 48 -

9. (61 X 6) +45 =

10. (842 X 4) + 30 =
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1. (20 + 80) X &
2. (45 + 25) X4
3. (821 + 23) X8
4. (184 + 26) X 5
5. (824 + 45) X 8
6. (65 + 15) X &80
7. (4186 + 865) X 200
8. (87 X 4) + 56
9. (8 X §5) +60

10. (869 X 6) + 80
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s (60 + 40) X 2 =

2. (85 + 86) X 5 =

3. (426 + 32) X 4 =

4. (176 + 13) X 6 =

5. (281 + 34) X 4 =

6. (57 + 16) X 60 =

7. (256 + 315) X 300 =

8. (8 X 5) + 36 =

9. (26 X 8) + 90 =

10. (31 X ) + 30 =
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(60 + 20) X 8
(82 + 58) X4
(3812 + 65) X 8
(1983 + 12) X 5
(317 + 35) X 7
(67 + 18) X 80
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(145 + 233) X 200

(81 X 6) + 25
(29 X 2) + 580
(515 X 8) + 40
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. (10 + 90) X 9

2. (6% + 86) X2
3. (178 + 47) X5
4. (215 + 14) X 6
5. (512 + 381) X 4
6. (41 + 21) X 60
7. (218 + 256) X 300 =
8 (86 X 5) + 580 -
9. (4 X 8) +40 =

10. (614 X 7) + 80 =
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